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Part A (F -9)

Q. No. 1 (a~f) carries 1 mark each 1x6= 6
Q. No. 2 ~ 7 carries 2 marks each 2x6 = 12
Q. No. 8 =12 carries 4 marks each . 4x5 = 20

. Q. No. 13 & 14 carries 6 marks eaclt 6x2 =12
Total = 50

Part B (4 -99)

Q. No. 15 (a - f) carries 1 mark each 1x6= 6
Q. No. 16 - 21 g‘m’ries 2 marks each 2x6 = 12
Q. No. 22 -26 carries 4 marks each 4x5 = 20
Q. No. 27 & 28 carries 6 marks each 6x2 =12

Total = 50

Total (Part A & B): 50 +50 =100
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PART-A / &-Si%

(1) Define the term scarcity as used in economics. 1
SIHIOCS YIS TRIATOR LA Fje i | |

(b) What is opportunity cost ? 1
ele F T 2 '

(c) If marginal utility of a commodity. is higher than the price, then the
consumer will buy more of the commodity. 1

el (Write true or false)
wﬁ&ﬁm_aﬁ%@mﬁ@ﬁﬁamﬁwmw Colreta!
. TIoa @ EE AR i P | (&% = ©1%% (=773))

(d What will be the effect of price change on supply of a commodity
with perfectly inelastic supply ? 1

Sros}ef SRR (ISR G0 TR (0 7 AR AOFI =R 2

(e)  How will an increase in the price of inputs shift the supply curve ?
' 1«

GHIRETC v e ol GRS B 4a0s ZAIes A D 2
(/) What is shut-down price ?
SRS A S 2

Why the production possibility curve slopes downward from left to right ?

2
Beoe FAEETES! @R G AU (A GRS WHI VERE W 2

Give two reasons of a leftward shift in the demand curve.
SifEwl @t A FEEES R 76 RGO FE |

The price elasticity bf demand of a commodity is 4 and the percentage
change in price is 8. Find the percentage change in the quantity

demanded. . 2
=5 wEE siftnE va 2oz sol 4 38 MER *eTEl SiFaeq 8. BifER srew=

o|fFase sieT F ! |

What is fixed factor ? Give one example.

2 TAME F1 2 G0 A Wi | .

1+1=2
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6. What is meant by inelastic supply ? Draw an inelastic supply curve.
1+1=2

SRSZAT (Sis 2 G0 AZOFAF (Sl = SF Tl |

7.  Mention two differences between monopoly and perfectly competitive
market. : 2.
GIHoAr AT GRS efSraifTerETe ATEE 716 AL S &l |

8.  Distinguish between change in quantity demanded and change in
demand. ; 4
BIfRAIN AR AR @< IR RO #A1e e |

9. Mention the relationship between total utility and marginal utility. -+
6 oIl R i Soirafaer A= S S |

10. What is variable cost? Why the average variable cost (AVC) curve
becomes U shaped ? 14324
RSP T Tl 2 0 RIS 77 @ (AVC) @ U SIighes 2
The productioﬁ function of a firm is Q =207K?2, |
Find the amount required of factor K if the firm wants to pro.cluce 200
units with available 16 units of factor L .
(Q = Output, K=Capital, L =Labour) ' 4
6 A AV BeoAe Tl el Q = 217K 2 | efSwinfs apd 16 @9
L SAMGR ATl 200 495 TH T PO  bIRE @SN
K CMICR 2T siel el | (Q = G oMt #IfR I, K = Jeiae, L = ) |

12. Mention the effects of the following on the supply of a commuodity.

2+2=4

()  Fall in the price of factors.
(i1) Rise in the per unit tax.
G TR (GIRIEE S RIS TR 2ok S Rl
(1) CoAW T[C2E WEE Q|
(i) e ¢33 u T2 I |
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13. Explain the Law of Variable Proportion with diagram. 6 ‘ "~ PART-B VA B
oz Ao e et [iEh =0 S|
15. (1) In what circumstances, the GDP of an economy can be equal to

Or/ SRSt - GNP ? s 1

The total fixed cost of a firm is Rs. 200. Fill in the blanks of the following & o G0 (T GDP, GNP-9F Hi 208 #AIH 2
table. 6 b 4 o
(b) What is transfer payment ¢ ' : 1
6 AfORIR ib Fa e =Afset 200 Bt | Siewd SifFit 751 i | |
e AR F 2
Output TC : : ' :
@z pu AC AVC MC () What is voluntary unemployment ? ' 1
ot s 4 100 A n . . (FRFS JRIF A FI.2 A
2 00 '— = i (d)  What is Break-Even income ? ‘ 1
3 - 250 ey . oo ST F 2
4 — - — - 230 e
() What is the full form of GST ? : ; it
14. Explain the PSS .of Long-ru‘n Equﬂlbrmm Price determination of ° ¢ 2 GST-< =i A S 2
perfectly competitive industry with diagram. ; : ik
i i Al 2 L (/) What is zero primary deficit ? ' 1l
o4 efraerER Sooiek e SiEn v e ofFmit b e . 4. gy
FEl | ' : =[«y A2l Qoo Bl ?
O Sl 16. Mention two subject matters of Macroeconomics. 2

Show the effects of change in demand of a commodity on equilibrium

price, if 3+3=6 ® ®

(i) the supply of the commodity is perfectly elastic

e SdREE 70 Raaae O @l | .

17. Mention any two types of leakages found in the Circular Flow of Income.
' 2

(ii) the supply of the commodity is perfectly inelastic. I b S S weA (@ (e 76 FoNeE R S |

5 W RPN W o[fFST Ao (e I —
TP S, SRR 18. What is investment multiplier ? Write the relationship between investment

() wAa sl o 2oz = . multiplier and MPC. 1+1=2
i) @ a4 o = Rifc eds F 2 R g0 @ MPC-a7 5ty 7280 et |
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19.

Mention the two primary functions of money. ' 2

@R 76 I I S A |

- 20. Mention two differences between revenue receipts and capital receipts.
2
e e GR e AifRT T 76 N @i |
21. State two sources of supply of foreign currency. larik=2
@ @A @SIE 70 B S e |
22. The value of MPC of an economy is 0-4. What amount of new investment
is required to generate new income of Rs. 500 crore in the economy ?
G TeAIfere MPC 8 Wi 0-4 | SILIfebre Ted S8 500 G il oIz
2720 I G 1 AR Tod RNCAIIR eies 26 2
23. EBxplain any two fiscal measures to solve the problems of excess demand in
an ecornomy. 2+2=4
@S5 ST SToifET SIRAR TP T TR G (3 (Pl 6 SRR -E
I A |
24. Mention four factors causing disequilibrium in Balance of Payment of a
country. ' 4
G (R AR TS SRS Je = 5IF/6 S TrEl T |
25. Write down four differences between Direct Tax and Indirect Tax. 4
o T R AR FEE GA AG E |
26. What is Budget Deficit ? What are the three types of Budgetary Deficit ?
1+3=4
TG AGFS F 2 <Aces AL G710 2BE T T 2
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Describe the Circular Flow of Income in a Three Sector Economy. 6
fonfs deye SATIoT SIEH S e KReel ie |
Or/ ¥4

Explain the Expenditure Method of calculating Gross Domestic Product
(GDP). : 6

GG A BLAH SR TF c@io i FE |

Explain the process of credit creation by commercial banks. 6
ifafers TiEa 4 FRe A T & '

Or/ T31
Describe the Quantitative methods adopted by the Central Bank to control
credit created by commercial banks. 6

AT TF =GB W FEEeR o @GR IR qE R AR Ao
ST T |
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